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| gdfrared’ OMR IAT-UASE G HGAT 1. candidm mt «mr his / her
7y gftawT e (10 Al aa'r)
v

&1
R
3
- 3
i

I 2

mdu ate full murk s.

4. AT ‘Tq? 1" 41 iU 4. 15 minutes of extra time have been
Wﬁﬂfﬂ?# qr:‘} 5 ﬁT'-E & JlARE  allotted for the candidates to read
qHT ’%E?T T the questions carefully.
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5. This question booklet is divided

into two sections — Section-A and

T Section-B.

¢ @vg-o # 70 ahE wvT & O In Section-A, there  are
| 70 objective type questions,

ford #1:5??;5 n:;ﬂi’#maz;z out of which any 35 questions

' _ are to be answered. If more than
I &1 W T 35 F1 39 /Ll 35 questions are answered, then
g % & o 1 s Fiifie &1 only first 35 will be evaluated.
g7 I A & oo Iueiy CTIC Each question carries 1 mark.

W OMR IW-7TAF 7 R m @l Darken the circle with blue / black
ball pen against the correct option

fawey & A / @it @ 97 4 |

o R paa on OMR Answer Sheet provided to
WeHt you. Do not use whitener /

/ T ETel/ &8 / ARG & B lquid / blade/ nail etc. on OMR

OMR JT7-UA% § WGNT #VAT HAT  Answer Sheet, otherwise the

g orgur gitar oo s result will be invalid.

g

7.@Y8 - & # 20 @Y IANT W¥T 7. In Section - B, there are 20 short
19w & fﬁ? 2 3F e g: answer type questions, each
frd @ st 10 T @7 T 7 carrying 2 marks, out of which
afard # | WW?FW@US’# ::ya- 10 :uesﬁon.s are to
6 3T ‘-ﬁ’ﬁ? wvT 3 3 & g there M:em .6 Apc;:n;mmqri::;
# w5 oF Frifa E?, fd g type questions, each carrying

fet 3 wvl 7 gwv 31 sifyard 5 marks, out of which any

2 3 questions are to be answered.

! 0
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@Ug - 7 / SECTION - A
aﬁﬁ'@ UYT / Objective Type Questions - )
goT & 18 70 % & URF uyT & forw Wi faweq f7v v 7, faad @
wwﬁ?JWWﬁWWﬁ%mﬁOMRvﬁzwﬁfmm | TTE
35wl & I A8 35 x 1=35
Question Nos. 1 to 70 have four options, out of which only one 1s correct
You have to mark your selected options on the OMR sheet. Only

35 questions are to be answered. 35x1=35
1, it g g fe wiafea feean 7
(A) T (B) WA &
© AR (D) o & B T
* Who proposed demographic transition theory ?
(A) Marshall (B) Amartya Sen
(C) Notesteen (D) None of them

0. HFE YW R T s feamite e 3 o (S gEd w
oA 17 98 e w2
A) =) e
ey Fmwm D) T A HE T

“ “Human geography is the ‘study of the changing relationships
between the unresting man and the unstable earth.” Who said this ?
(A)  Ritter (B) Ratzel
(C) Semple (D) None of them
3. Fed @ # wud SHEE aen 89 8 7

(A) HEETEE SN (B) yfH wew
(C) vweelia WeW /(D}/aﬁm-qﬁqﬁmsﬁm

Which of the following is a densely populated region ?
(A) Mediterranean region (B) Polar region

(C)  Desert region . (D)  South-East Asia region
4, Trasdifeamfsmeme @ g ?

(A) 1830%# By 1999 #

(C) 2001H (D) 2010%

In which year did the world’s population become 6 billions ?
(A) 1830 (B) 1999

(C) 2001 (D) 2010
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5. fava ¥ walfus s@En Hi=d @
et weH A
(A) vedE wew | (B) 3
ey derht wew # (D) e wem H
Most of the population in the world is conccntraFed in
(A) mountainous regions (B)  plateau regions
(C) the plain-;; a0 o & (D)  desert regions
6. TG wew H &8 ?
() o R w3 B) fufdm FfY wew
Q) EeEETE F wew (D) ¥ & HI§ T
In which region are rubber plants found ?
(A)  Plantation agricultural region
(B) Mixed farming region
(C) Mediterranean agricultural region
(D)  None of these
7. 3R i Gt FEaw 8
A)  Bleeat [EFACTac L
) e (D) T A S AL
The cultivation of grapes is called
(A)  sericulture (B) viticulture
(C) pisciculture (D) none of these
8. < @%ﬁﬁ mﬁmﬁ 2 | NN
A T ~ (B)
(c) Tufya Fi 4 /{B)/ T A B8 T
The cultivation of rice is associated with
(A) truck farming (B) plantation agriculture
(C) mixed farming (D) none of these
9. W4 %I WHHan i fohamehormy w41 ?
) T B) T
© FW D] 3T T HE
What was the oldest economic activity of human beings ?
(A) Mining (B) Weaving
(C)  Argiculture (D) Hunting and gathering
10. ?
(A)  WRd (B) %™
ey (D) e fweq
" Where is Essen ?
(A) India (B) France
(C) Germany (D) - Great Britain
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11

g emnT el e B 7

@ T (D) e
“ Where is the Danube waterway located '-""
(A} Asia [B] Africa .
(C] Europe [D] AUStI‘alla
12, W9 AR s 2
(A]  EEETR @I S 9 |
(B) i HEWTR F} Wiq wEETR @
(C) e WEHIT 1 Yuiiq HETETH &
(D) T A Hg TE
The Suez canal connects
(A)  the Mediterranean sea with Red sea
(B) Indian ocean with Pacific ocean
(C) - Atlantic ocean with Pacific ocean
(D)  none of these
13, W% wig #El Efea R 7
(A) TH (B) et
(C) ®EH Dy form
Where is Port Said located ?
(A) Iran (B) Italy
(C) Lebanon (D) Egypt
14, 3¢9 & g a3l @ F & IANSH-YEH B FHE T 2
w/ FAWHE AR B) &fiw =R
T(C) v =R (D) ¥ ¥ wi§ T
The exchange of goods and services between two countries is called
(A) International trade (B) Regional trade
(C)  Local trade (D) None of these
15. %A Fo|r! wal & 7 ‘
(A)  %E - (B) S
(C) uikte (D) e A
Where is Rhine waterways ?
(A) France (B) Germany
(€)  Poland (D)  Great Britain
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18.

19,

20.

21.

| 323 |

A 1 i wedt ¥ R A S
(A) 10000 (B] 20000
(C) 30000 © (D) 40000 o
The minimum population for urban settlement in Jap
(A) 10000 (B) 20000
(C) 30000 (D) 40000
YRR YeT AEd

v afdT & e @ B) fueh & deE A

(¢ A R H (D) T @ 18 TE

The Australian Trans-Continental Railway connects
(A) Darwin with Melbourne
(B) Svdney with Melbourne
{C} Perth with Sydney
None of these

aﬁm%ﬁﬁmﬁﬁﬁmﬁtwé ?

(A TR (B) HpfH T
; '{mﬁm TR (D) TH§ g+

Broken Hill is an example of which‘of the following ?
(A)  Mining town (B)” Cultural town
(C) Administrative town (D)  All of these
TS R 7 |
A) wEd (B) WO

LTI (D) YE H A
What is Masai ?
[A} Mountain (B) Desert

Tribe ) Grassland
ﬁET T 8 BN aferTg 1 R %
&) = J/mazg
©) wem (D) o 8 e T
Which of the following is Manchester of Tamil Nadu ?
5?;’, ghlennai (B) Coimbatore

alem

fen it % ; (D)  None of these
() e By ufeam S
(C) sifeam "D ¥
Sunderban is situated in which state ?
(A) Goa

: (B)  West Bengal
(€) Odisha (D) Kerala
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e & i aeht o fe =ram s 2
(A) 2000 @) 5000
(C) 3000 (D) 4000 ‘ o
The minimum population for an urban settlement in India 1s
(A) 2000 - (B) 5000
() 3000 (D) 4000
b3, siFcEE dd &3 R dafer @ 7
(A) HEH (B) TSIEAM
() ORI (D) Al
Where is Ankleshwar oil field located ?
(A) Assam (B) Rajasthan
(C) Gujarat (D) Tamil Nadu
24. ga-v?ﬁﬁmrmﬁmﬁtm%? ”
(A) Y T B e
(C) deTHEl (D) dfHeETg
Hubballi is located in which state ?
(A) Andhra Pradesh (B) . Katnataka
(C) Telangana (D) -~ Tamil Nadu
25, FETAT TS ) TSUHLHE &7
A) fomaTe By LA
(C) TawmEETH (D) THE B
Where is the capital of Telangana state ?
(A) Vijayawada (B) Hyderabad
(C) Vishakhapatnam (D) None of these
6. Fm § @ #A U S A | waid @ ?
Pl (B) S Ul
(€) dg TREE (D) v @ wf
The open sky policy is related to which of the following ?
(A)  Air transport (B) Water transport
(C) Road transport (D)  All of these

27. i aferdt & e ) auEE B @ 7
HfY (B) =K
fafamto (D) W @ afl

(C)
Which work is predominant in rural settlements ?
(A)  Agriculture (B) Trade

- (@) Manufacturing (D)  All of these
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gl wifd wafda R

28 s
(A)  wrens e @ (B) &M FurcA |
T(C) @ 3cied d (D) g A I3 Arl
Green revolution is related to | .
(A)  production of foodgrain  (B)  production of milk
(C)  production of pulse g)] none of thesc
20, Iat wRa A fgard @ e W ®R 7
(A) AN (B) A&
(€) AR (D) % | Hrg A
What is the main source of irrigation in North India ?
(A) Tank (B) Canal
{:E?:q "l‘l,lbcw_gll (D) None of these
30. gafa
A) IEEE B) dfa#
(€) feram | (D) @A
Salem is related to
{A) Steel (B] Cﬂppcr
(C) Petroleum (D) - Gold
31. @M IcHeA o ot T @R
(a] WAl (B) i
() g (D) Ffem
(WA:JICh P;z the S(ading state in gold production ?
rnataka (B) Goa
" (C). Tamil%Nadu (D) Odisha
’ g GIC asafmfa = am; =
_ (D) ®
Singareni is famous for "
(A) Coal
&
33. ey fohw 3em & o v s 2 2 e
A
:C’] fﬁi“”ﬁ‘ B ey
: (D) CLe|
Solapur is known for which indus[;gﬂ
(A) Iron ore (B)  Alumini
C) Cement um
- ©) = (D) Cotton textile
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mammﬂfmaaaﬁsamﬁf&xa%?

== ava W (B) TS
) e o R s Sl
Balaghat manganesc field is located In which s he :
(A) Madhya Pradesh (B) (,hhattlrsgzr
(€) Odisha (D)  Jharkhan

45 e Wl AR e T fem @ 7
(A B) T

) (D) o

Sardar Sarovar project is situated on which river 2
(A) Narmada (B) Ganga
(C) Kosi (D) Damodar

36, ey aul &1 gy fhE SgEm A R 7
(A) S B) 3
(C) S FGq U (D) Bk
Acid rain is related to which pollution ?
(A) Land pollution (B) Air pollution
(C) Water pollution (D) Noise pollution

37, WG GHA 6l FIIME Fa Bl 2 7
(A) - (B) wE-3IA
(C) Tali-wEd (D) R -AIwEL
When is Kharif crop sown ?
(A)  June-July - (B) March-April

(C) January-February (D) October-November

-

38. T ®EA IR &

a) @ w B) W%
(C) e ®l (D) ¥ & F TE
Wheat crop is an example of
(A) Rabi (B) Kharif
(€)  Zaid (D)  None of these
39. 92 % 3reA § &N anpeft Ty R 9
(A) H (B) USRYN
C) Tea (D) ufvaw s
Which is a leading state in the production of jute ?
Eg]] gc{ala (B)  Rajasthan
ujarat D
40, ﬁqﬁ@;ﬁqwmmﬁ WﬁT{IFl]?% ?esrBengal
- (A) I TeW B) fagn
(C) wm@ve (D) 378d
270@ Page 9 / 1
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Which of the followin
sugarcane ?

g is a leading statc in the

produat.irm of

(A)  Uttar Pradesh (B) Eihar
(C)  Jharkhand » (D) Assam
Bl B 7 :
by i W - B)  ufgay &mre
(A)
Where is Talcher Coalfield ?
(A)  Bihar (B) Wc:qt. Bengal
(€) Jharkhand (D) Odisha
42, qeﬁ%ﬁaﬂwwmwﬂﬂ% ?
(A) 95 widawd (B) 96 Wfdwrd
(C) 97 (D) 99 _ |
What percentage of total water on the earth is saline ?
(A) 95 per cent (B) 96 per cent
C) 97 per cent (D) 99 per cent
5 tmianuEwEE TR
(A) A& (B) _dis
€) W (D) -3
Which of the following is not-a metallic mineral ?
(A) Iron (B) Copper
(C)  Manganese (D) Mica
44, e 6 URieA fRE TS AR 7
(A)  HAEF B) dfETg
(C) TR (D) 3fem
Baba Budan hills are in which state ?
(A)  Karnataka (B) Tamil Nadu
(€] Gujarat (D) Odisha
45. VgTadl 9T I HEl @ 7 ..
{Ai ANEUS (B) a;.ﬁza;
(C) TR (D) oETE
Where is Bhadravati steel plant ?
(g) Jharkhand (B) Karnataka
(C) Rajasthan :
46. i1 e B Sf Ted B R 9 (D)  Chhattisgarh
(A) HEg gew B T
[CL i (D) wR@vg
Which is the leading state in :
() Madhya Pradesh (e Boduction ?
(C) Goa (B) Rajasthan
*I--—“""——Lr:}_]_1 Jharkhand
27nno T
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47.

48.

49,

o,

ol

" 592,

l fe ol ]

i 1 ) a1 e e e 8

(A) ST ) s
() ST (D) HAT
Where is the largest oil refinery in India ?
Jamnagar (B) Barauni
Bongalgaon (D Mathura
1!-54;5 fn Ryafig w1 g STER T IEHR sfrd 2 7
(A) Gmﬂq B) ™
() SR (D) ST@reH
The age-sex pyramid of which country has a narrow base and
tapered top ?
(A) Japan (B) Mexico
(C) Nigeria . ‘ (D) Bangladesh
T e § fhdd oy 9 8 7
(A} 3 (B) 6
Cc 8 (D) 10
How many lock systems are there in Panama canal ?
(A) 3 B). 6
(C) g? 10
ﬁwﬁﬁmﬁ#ﬁﬁﬁm&ﬁ J PH-h 9T 5 YUE R 7
() T & g B) Trw & T
() a8 T (D) A & o

Which of the following streams is dominated by male migrants n
India ?

(A) Rural to Rural " (B) Rural to Urban

(C) Urban to Urban (D] Urban to Rural

I YT 1 B IYAH T § 7

(a) R fawmm (B)  IW-3nyfAear

(C) TIfis e D) &l favrem

Which approach of Human Geography is most recent ?
Reglonal analyms (B) Post-modernism

1959 B 1972
{C} 1976 (D)~ 1982
In which year was the television broadcasting launched in India ?
(A) 1959 (B) 1972 '- |
(€] a9i6 (D) 1982
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03.

o4.

53.

58.

ﬁm%mﬁ’tamfﬁ%iﬁmﬂwmg?

w o B

iﬂ]ichﬂgfuﬂfr has the highest density of railway network ?
(A) Brazil

(B) Canada ‘

(C)  United States of America

D) Russia :

3} P e e S 'R 7

(A)  EHdl (B) Haa draufiad

(C)  WRhIH (D) 8@ ;
Which of the following is the pillar of human de._v.e:lopment :
(A)  Equity (B) Sustainability
(C) Empowerment (D)  All of these
TPt STt G 2 % A 2

(A) @i @ (B) SR A Efeddl

(C) HIETgH ga;;aﬂ (D) ¥ @ HI3 TR

The extension of National Waterway No. 2 is

(A)  Sadiya to Dhubri (B) ~ Allahabad to Haldia

(C)  Kottapuram to Kollam (D) None of these
a@nﬁﬁﬁﬁ#'mwﬁmﬁ'ﬂamﬁmw% ?

(A) gl B) wifa
©) T () WTHR
Which of the following ports is known as ‘Queen of the Arabian sea’ ?
(A) Kandla (B)  Kochi
(C) Mumbai (D) Mangalore
mmﬂammm—mmmﬁmw% ?
(A) ueH ufEE B) & vhaE |
(C) Y g (D) & vitag
Which mode of transport provides door to door services ?
(A) Rpad transport (B)  Rail transport |
(C)  Air transport (D) Water trans
ﬁnmﬁﬁmm%mmmm% ? e
() B) W
(Wclll h of the f -
ich of the followi i
) lowing ports is located on the Western Coast of
(A)  Mumbai :
(C) Kolkata i

(D) Haldia
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59, aUR AT ® ? 7
(A) (B) T
(C) (D) HENE
Tarapar is in which state ?
(A) Tamil Nadu (B) Gujarat
(C) Kerala (D) Maharashtra
60. W% (SAFTA) #& aferes o aman 7
(A) SHE 2004 (B) =l 2005
(C) &t 2006 (D) FAEd 2007
When did SAFTA come into existence ?
(A)  January 2004 (B) January 2005
January 2006 D) January 2007
61. fgﬂ[ U mm‘uéﬁaqmﬁﬁiﬁﬁm%ﬂmaﬁmﬁ
u’lﬁa ﬁm ?
(A) W@ . (B) U
(C) W™ (D) <=
Which country officially proclaimed the Gross National Happiness
(GNH ) as the measure of development;?
(A) India (B) - Nepal
C) Bhutan (D) China
62. w—ﬁﬂﬁaﬁaw% WA R ?
(A) (B) hlSdll
() ‘D)
Which of the following ports is not on the western coast of India ?
(A) Mumbai (B) Kandla
(C) Paradip (D) Nhava Sheva
63. @M WA AR TYE A FEf[ T R ?
(A) nfEEA (B) U |y
(€) (D) 4IH U7
Which is not related to Regional Trade Bloc ?
(A) ASEAN (B) European Union
(C) SAARC (D)  United Nations
- 64, gfeu M T wfRe frr T A R 2
A)  TorH (B) afsm
(C) uSTE (D) i
Indira Gandhi Canal Project is in which state ?
(A)  Rajasthan (B) Odisha
(C) Punjab (D) Haryana
|27008| Page 13/ 16
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a4 v @i wpla & [fo va vauEg vy gotardf) B 7

: 0 e QIS 1) g gt
t::' i}ﬁﬁ&a mlnnﬂ fera i () et g qraa u.rt%m‘ "
Which agency i8 responaible for the Qolden Quadrilateral’s construc 1on
and maintenance ? .
(A} Border Roads Organisation
(R)  State Highway Authority
(C)  International Highwny Development Agency
(D) Nminn;i Highway Authority of India
o6,  TRH TR
(A)  haws I W (B)  wfors am =t
(C) W TR W (D) wEf¥E T
Itarsi is an example of
(A) transport town (B) educational town
g?l-]_-{ tourist town (D) administrative town
67 ¥ # WA TR 1 I TE @ 7
(A) SR (B) SHIEY
(C) WA (D) W&
Which of the following is not an example of ancient town ?
(A) Varanasi (B) Jamshedpur
(C) Prayag (D) Madurai
68. RINC] )
(A) ST EET I (B) TEHUT <l
CER S (D) T S
Decibel is the measuring unit of -
(A)  water pollution (B) air pollution
(C) land pollution (D) noise pollution
69. vEEd! # wEY § O
(A) o T @ (B) et aW R
(C) - W (D) HEUME |
Bhadravati is related to
(A) iron and steel (B) cotton textile
C) etrochemical (D) port
70. %ﬂﬁéﬂﬂﬁmmﬂuﬁm@m% 7
(o) dfan (B) uifaw
(C) Wi (D) AVH
Which of the following is a radioactive mineral ?
(A)  Copper (B) Thorium
(C) Bauxite (D) Mica
Fe====1
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@WUg - § / SECTION - B
Y 39T W¥T / Short Answer Type Questions

WY Wwar 1@ 20 g ywiw & ) PR 10 WA % I T | 9AF & forw
2 % fruiRa & | 10 x 2 = 20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks. 10 x 2=20

L

2.

~]

10.

| &

12

13.

14.

15.

TG U ® Y w1 guEi § 7 2
What do you mean by density of population ?

HIARAT A R 7 2
What is literacy rate ?

nHe fawa gass &8 7 2
What is Human Development Index ?

Tea frate N 6 3 fawaait & sg@ Hifvg | 2
Mention two characteristics of intensive subsistence agriculture.
oG JAM ¢ 7 2
What is footloose industry ?

qtas frarhema & Q Iqreew i | 2
Give two examples of tertiaryactivity.

e I % <) SUTTHI S IgE HINT | 2
Mention two approaches of Human geography.

o1 qREET & &1 Ml H1 3@ HIT | 2
Mention two advantages of water transport.

21 Wi AR FHgH % AW fT | 2
Name two regional trade blocs.

oy aferdi & < gfewdl 1 Iga HT | 2
Mention two patterns of rural settlements.

e % 3 HIHY B b I G | 2
Give two examples of pull factors of migration.

yaea &1 %9 w78 Hifv | 2
Clarify migration.

T a @ AT R gEEa @ 7 2
What do you mean by slum ?

zfiqor mmy% Q & am fafla | ' 2

Name two metropolitan cities of South India.
T B G2 o e & ¢ IR HHhl H1 IgE B | 2

Mention two factors responsible for declining water resource in
India.
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17,

18.

19.

20.

[ 3231

g

I % T T e a6 A il |

. g of India.
Name four cotton producing statcs 0

g % 9r WA Iegh gt % amw fabau |
prmluring states of India.

Name four manganese ’
gaa qwofty fywm R 7
What is sustainable development ? )

wﬁ@muﬂa‘rﬁm%ﬁ%%ﬂgﬁwwi‘ 7

What are the major impacts of information techn
India ?

T TR ?

What is liberalisation ?

#d 39T W9 / Long Answer Type Questions

ology revolution in

2

oo e 21 @ 26 A s & | fe Ayl & I d | 99w F A

5 3% fruia & 1 3x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any

three questions. Each question carries 5 marks. 3x5=12

21, SEEN UREHA & Tl 1 IgE .| ' 3
Mention the cofnponents of population change. .

22. UE oW % 37 I WE S | z
Explain the meaning of hinterland.

23.  FAUEE AR A 9T A8 qF & HEA H qUA HIT | 3

24.

25.

26.

Describe the importance of Panama canal route in internationa.
trade. '

Y-Yeuu W U Higw feuft ferfey |
Write a short note on land pollution..
A | o8 e 3T IA & foaew @1 9uia hifs

Describe the distribution of iron and steel industry in India.

qd 1 A §Re 3R frafafga # el Sifw .

(a) 11?413!11 (b) wEma () g
(d) T (e) YR |

Draw a map of India and show the following :

(@ Guwahati (b)  Chandigarh  (¢)  Mysore
(d) Gangariver (e} Paradip.

f_.]|

o

Lol
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